arear/ OR
denHe Wfeca i palfeal dH-di | 872

Define the criteria of scientific personalty.

T et ST e e FN SXaT & fRgell W uaer S |
Highlight the points given by Acharya Tulsi for the construction of
healthy society

arear/ OR

qfaROT T T S AT ST \epaT £7 g avuie o |

How can environment kept balanced? Explain in ditail.

FHIY P TH ATEIAT BT FLT0 N |

Explain the ten stage of Karma Bandh.

a1/ OR

SHe faeT & o83 vg 20T ) AR | 993130 |

Explain aims and objectives of Jeevan Vigyan in detail.

*ee

(i)
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: fp=d1 utg weal ¥ Sw ) 9t weTl & oip guE &1

Attempt any five questions. Each question carries equal marks.

qRITE T IR e §U b TR Ud HRUN Bl R A fored |
Explain the types and causes of Possesions while defining it.

372/ 9T/ OR
gef SFig A wfmfed o TR B T @ |

Clarify five Samvays described in Philosophy.

S g9 & amaR W AR’ B ufaunied &

Define 'Cosmos’ on the basis of Jain Philosophy.

37er@T/ OR
AT b qRE Tl Dl =1 D] §Y Sl YA Bl g I |

Prove the utility of 12 Vows of layman while discussing it.

e st e dgfera fRiam wumeft 81 1 | HIf )

Clarify Jeevan Vigyan as a balanced system of education.

(i) $.93./PT.0.



U. 3. g feult fo1fiay / write short note on-
(1) nforeuer Tes fA9eT / Competitive factor analysis
(2) aramERor ety H gRuTET, 39 ey @ gud A ae
HROT TF IR0l ey & widsar |

Environment analysis definition, factor affecting this analysis
and process of Environment analysis.

a2/ OR
STl gER 6 I fIRaR & sy |

Explain characteristics of Entrepreneur behaviour in ditail.

U 4. UM 0P FdFT Bt Therar § T TR S TS B e
Y |

Explain the role of National level Institution for sucessfulness of
Entrepreneurship development programme.

3erar/ OR
ST [IPRT PRI I TR T AR § TR BT THHS |

Explain the sucess of EDP and Hindrances in the sucess.

U. 5. SE & Ao aa e § e dF JHdT hsed |

Explain the role of Entrepreneurin balanced regional development
of Industries.

arear/ OR
TITIT HT BT S H TG I Jhagebul 5 ITT BT et a1 |

Explain the role of Enterpreneurs in augmenting and meeting of

local demand.

*ee

(i)
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e : wfl woAl & SR SR a4t weAT & Fd gHE

Note : Attempt all questions. Each question carries equal marks.

T. 1. 9Rd § SERdr & i e & o sRur §7 9Rd J e &
o o a1 T 5 T | e |

What are the causes of slow development of Entrepreneurship in
India and explain the effort did for development of
Entrepreneurship in India.

Fqr/ OR
ST & O™ 1 99ifid F T 98P Ta1sy |
Explain the factor's affecting development of Entrepreneurship.
u. 2. g el et/ write short notes on-
(1) v, 30T A5@ g Fofae wfd
Decision, It's importance and decision making process.

(2) FISF, 3991 959 & e FRNE & T[aead o |

Planning, It's importance and necessary qualities for Business
Planning.

a1/ OR

e gofl 31 gt Hife 1 3adht Rewam sasa @ ST goit
faaer &1 ufpar H‘Téﬂsﬁ | / Define venture capital and it's
characteristics and venture capital investment process.

(i) $.93./PT.0.



EIGERISEIR UG @RI~/ Calculate Current Assets.

Stock Turnover Ratio 4 times

Sales 6,00,000

Gross Profit Ratio 20%

Closing stock is 10,000 more than Opening Stock.
Quick Ratio 751

Current Liabilities 40,000

ThY 3T ITIUT 4

] 6,00,000
HETRCICRCE RIS 20 gfcierd

3t ¥ TRS  TEiH @ 10,000 3fers & |
TR U 75:1

T, M 40,000

+00

(iv)
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Frdar : foedl g weal & S AR gt weAt & 3 A €1

Note : Attempt any five questions. Each question carries equal marks.

. 1. I faemen B e SR / Calculate material variances.

sQ SP AQ AP

X 100 5 200 10

Y 200 10 300 20
300 500
Loss -30 =50
Slo__270 450 Afo
a2/ OR

i faamur @ o = wHe & forfig Rarwr featvor &Y g

ISy | / What is financial statement analysis? Described technics
of financial statement ananysis.

9. 2. Year Sales Profit
2003 2,52,000 - 16,000
2004 3,57,000 19,000

3T R/ Caleulus

(i) &Y "7 3R / P/V Ratio

(ii) 99 foreee ﬁg / Break Even Point

(iii}) 2, 70,000 &t fpl R™/FIM / Profit or loss on sales of 2,70,000.
(iv) 25,000 3T T FAF & 9/ Sales for disired profit at Rs. 25,000.

(i) $.93./PT.0.



312/ orR
3T FRI- / Calculus-
(i) ﬂ'l?j‘ﬂ":'ilﬁf/(:urrent Assets (i) ﬂ'l?iﬁ'lﬁﬁlﬂ/Current Liabilities
(i) <P/ Stock
(i) Liquid Ratio T¥el 3FJUIT .75:1 (ii) Current Ratio Tc] 3T 2:1
(iii) Working Capital 50,000/ Bl guft 50,000

9. 3. Balance Sheet

2009 2010 2009 2010
Capital 20,000 | 65,000 | Cash 5,000 10,000
Creditor 10,000 20,000 | Debtor 20,000 60,000
O/5 Exp. 5,000 - Stock 10,000 5,000
Provision for tax 15,000 20,000 | Machine 20,000 50,000

Bank Over Draft 15,000 20,000 | Land 10,000
65,000 | 12,5000 65,000 | 1,25,000

(1) 12,000 ®9T F AFE H 937 ST R @BHT FF 1,000 .
off 3,000 . H 941

Machine costing 12,000 Deprication up to now 1,000 Rs. sold
for Rs. 3,000 only.

(2) =mmier g 2,000/ Dividend paid 2,000

DY T8 IR0 o JIR B | / Prepare fund flow statement.

a2/ OR
3T |/ Caleulus-
1. 99 foese fAPT /Break Even Sales

2. ™ /Profit

P/V Ratio 50%

Margin of Safty 40%

Sales 50,00,000 Rs.

(i)

U, 4. P YAE A0 TR 71 |

Prepare cash flow statement.

Balance Sheet

Liabilities
Capital
Creditor
0/S EXP.
BIP.

2009
5,00,000
1,00,000
2,00,000
2,00,000

2010
7,00,000

50,000

50,000
2,00,000

Assets
Cash
Debtor
Stock
Machine

Building

2009
50,000
20,000
30,000

6,00,000
3,00,000

2010
1,00,000

50,000

50,000
5,00,000
3,00,000

10,00,000

10,00,000

10,00,000

10,00,000

Calculate Labour Variance-

Grade

SH

X 2000
Y 1000
Z 3000

qRAfCD

gl

Actual Qutput
THTOT IqTe
Standred Qutput

9. 5. fewnft #R1- /Short note on-

(i} e 3JUTT / Current Ratio
(i) =t U / Propritary Ratio
312191/ OR

SR

AH

a7eraT/ OR
1 ORI &Y T HR-

5000
2000
7000

2000 Unit

1500 Unit

{iii}

AR
50
20
850

$.93./PT.0.




9. 5.

Prepare process Accounts showing the cost of output and the cost
per unit at each stage of manufacture along with Normal Wastage
Account, Abnormanl Wastage Account and Abnormal Effectives
Account.

3121/ OR
FA1E feRer o7 e wRonef FETeE @ A R SR FaEe |

Give basic difference between reconciliation statement and
memorandum reconciliation account.

@ g 7 U 3R . TR & Al nde e 7 TR W T S
S 8- / Ina factory components Aand B are used weekly as follows:
Normal Usage (™= Gq‘lﬁ"T) 150 Units
Maximum Usage (3Tf8@a® SUNIT) 225 Units
Minimum Usage (?fl?‘l‘:[ Gq‘lﬁ"T) 75 Units
Re-order Quantity (J7: 32T AFHT) A 1200 Units / B 1800 Units
Re-order Period (J: 3TR¥T 31G18) A4 to 6 weeks/B 2 to 4 weeks
TP WBR H At F 7 TR R R Hifve:
Calculate for each component:
(i) g2 ITRYT R/ Re-order Level.
(i) STferepa™ TI Y/ Maximum Stock Level.
(i) AT ¥Ib R/ Minimum Stock Level.
(iv) 31 9d =fd T/ Average Stock Level.

e/ OR
T UF e AT H iR 990 | UeIe 2T § i PR &b Ty
gffea g S £ / Distinguish between direct and indirect

expenses. What type of expenses are included in the direct expenses.
1 22

(iv)
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Note : Attempt any five questions. Each question carries equal marks.

9. 1. 37, 2004 T8 & o Al & el 98 & wifm ok el &
e f=ifda & - / The particfulars of receipts and issue of

an item of stores for month of August, 2004 are as follows:
2004, August

1 Opening Balance 500 Tonnes @ Rs. 10 Per Tonne
S Issue {(Reg. No. 323} 300 Tonnes
9 Receipt {(G.R. No. 215) 600 Tonnes @ Rs 11 Per Tonne
14 Issue (Reg. No.423) 250 Tonnes
20  Receipt (G.R. No. 222) 100 Tonnes @ Rs 12 Per Tonne
27 Issue (Reg. No.524) 400 Tonnes

Material is issued on the basis of First In, First out (FIFO) method.
Prepare stores ledger Account on the basis of above particulars.
g} 1 e ger JmE, me e faft & orar feer ST
2| Sudad foeaRer & YR R ' doR’ QT Y |

a2/ OR
AR SREBT UGS A A7 3Faeas & @ik 7 & emerft, Afig ww

Ay e 8771 e Hifv /"Cost Acoounting system is
neither unnecessary nor expensive, rather it is profitable investment.”

Comment.

(i) $.93./PT.0.



. 2.

9. 3.

1 4fe T G a1 T GUH BRI T T | 49 SRR @ SIFH 15 B,
ORy o & B 9 32 0 & 8| SURST & aemur & 45 ®. Ui
i ToeT &1 SR siffep aR1 BRf A &t 18 Tl @ 95 1,200 %,
T 3 foTU & | SeuTe T PREFT AP SHT AfH Y giet AT B
ar=Tid (50 UiIeR & MR W) F: 2,700 B, qA1 2,910 ®. £l
TaT e a5 GRT o T 999 37 ST 1/ Two  worker X and Y

were given an identical job. The labour cost was estimated at Rs. 15

per hour for 32 hours. Overheads are recovered at Rs. 45 per labour-
hour. Material used by both the workers is valued at Rs. 1,200 each.
The works cost of producation came to Rs. 2,700 and Rs. 2,910
respectively for two jobs with Halsey plan (50%). Find the time taken
by Xand Y.

3oar/ OR
o BT | FT 2T 27 39 I & I dH-HH FI Aaferr

27 SAp A N Juig & | / What is labour Turnover? What are
different methods to calculate it? Name them & Explain.

frfeRRad faRur 30 S, 2004 F F9H EF It 39 & 10 3w

FoNRNT FEoT 9 T8 &:— / The following particulars are

related to Alfa Engineering Co. for the year ended 30™ June, 2004.
Completed Jobs Rs.  Work-in Progress Rs.

Material issued S000 1000
Wages 3500 700
Chargeable Expenses 750 50

Material returned to store 50 -

PR IJIRTT g AN F1 60 Hfdem o, gemafie IuRe™
HREMT AT &1 30 Ui & | asf § quf gU UM BT o
25,000 B. o7 | AR SIS0 : (i) af & A9 31eEn &1F S HH

(i)

9. 4.

2 Thigd quf SuBR TR, Je (i) ThRp Ae] B T |
Work expenses were 60% of Prime Cost, administrative overheads
were 30% of works cost. The value of jobs completed during the
year was Rs. 25,000. Prepare: (i) Consolidated completed jobs
account to ascertain the profit or loss for the year, and {ii)
Consolidated work-in-progress Account.

3121/ OR
oReed i Y & F= g 82 7% -1 s A oS
TRt £? T IR GRS A YA PIeui-e 3Pl Alkd GIR
FHIfoT td 398 AfEfaa 98 $T TUAZY [/ What is meant by

"Operating Costing"? In which Industries it is used? Prepare a
Transport operating cost sheet with imaginary figures and discuss
the various items included in it.

T IUe guf 29 | g oF e afdseeli @ 2R T 2
9o T. §10,000 FHEAT (50,000 ®. 9¢4 $1) & 11 =

= fd W / A product passess through three distinct processes

to completion. 10,000 units were introduced {Valued at Rs. 50,000}
in process A. Following expenses were incurred:

Process A Process B Process C
Machine Expenses  Rs. 5,000 4,000 3,000
Labour Rs. 20,000 30,000 25,000
Direct Expenses Rs. 11,000 16,400 4,600
Normal wastage 5% 10% 5%
Scrap value per Unit Rs. 1.00 2.00 2.50
Actual output {Units) 9,000 8,000 7,700

IeUTEA & Ui TR W UfT P18 PRI U1 IJeUTe I ol Arr
9 §U AihaT T 18T G AEFY &7 T, SAMFT & Tl
T S gt @l H & |

{iii) $.93./PT.0.
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Note : Attempt any five questions. Each question carries equal marks.
7. 1. i veea & Sl | omv g1 wmed €2 Rt Wea & faedig
TaE & S B A |
What do you mean by Financial Goals? Explain Financial Goals

for an Organisation.
3121/ OR

o i3 0 Jea} & NER R 2 o B IF ITTH ToT T I
der o & 10 ufde 6 g g2 & R R fF5E doae
I g a1 ST =y |

From the following information, calculate the net present value of

the two projects and suggest which of the project should be
accepted assuming a discount rate of 10%.

Project X Rs. Project Y Rs.
Initial Investment 20,000 30,000
Estimated Life 5 years S years
Scrap Value 1,000 2,000

Tog T A gd U9 R (FFS UaTE) & YA S INigT 39 UPR
&- / The Projects before depreciation and after taxes {Cash-Flows)
are as fallows-

(i) $.93./PT.0.



o 2.

. 3.

Year 1 2 3 4 5
Project XRs. 5,000 10,000 10,000 3,000 2,000

Project YRs. 20,000 10,000 5000 3,000 2,000
qoft &7 ST | 3T FIT TS §2 Yot T ArRT i R gen

USft &7 AT & SR & TEE B THSEY |

What is Cost of Capital? Explain characteristics of Cost of Capital.
Also explain significance of concept of Cost of Capital.

371/ OR
TSt fof. 10 URIe arel 10,000 FOMA 100 . Ui FodT 5
gfaed 957 W AT St & | e ama 2 ufied 8 | 7 R
AT PR B R 35 URIAT 2 | %01 GSit HF R gd qon = 918 ar

ST PIVTT | /Maneesha Ltd. issuess 10,000, 10% debentures of
Rs. 100 each at a discount of 5%. The cost of floation are 2%. The
rate of tax applicable to the coumpany is 35% compare the cost of
debt capital before and after tax.

doit T & faey Tl fig & iR | T9 s |

Explain in detail principles of patterns of Capital Structure.
a2/ OR

PYR for. HFuT Y goit e 7 THR B

Kapoor Ltd. has the following capital structure.

Rs.
Equity Share Capital 10,00,000
10% Preference Share Capital 10,50,000
8% Debentures 12,50,000

The earning before interest and tax (EBIT or OP) is Rs. 5,00,000.
The rate of income tax is 30%

i St &1 o Fifsry |/ Calculate the Financial ceverage.

(i)

T. 4.

. 5.

SIS W MY FAT TS 87 AT & QA TRt B FHesd |

Explain meaning of Dividend. Explain different forms of Dividend.
31ear/OR

T 1. & THaT o & AR 9 o1 Rl e gl 5

MR W HIRT-

Determine the market price of equity share of Apex Ltd. from
following information-

Earing of the Company Rs. 10,00,000
Dividend paid Rs. 6,00,000
No.of shares outstanding 2,00,000
Price earning ratio 8

Rate of return on investment 15%

AT T HFGT i gdAE ey HAify @ wgse §7 afy a8 @
JHeTaH YIA AR @1 BT 21T 2 dleey 8T BT TN
I |

Are you satisfied with the current dividend policy of the firm? If

not what should be the optinal dividend pay-out ratio? Use Walter's
model.

Frdefie ot & sredl I fiRau T Hrfefier goft & UaR ot Ty |

Write the component of working capital. Also explain the types of
working capital.
a1/ OR

Ape U=y H1 31ef Tuse B0 | b TETY P B AT 84 B
ol Ty |

Explain the meaning of management of cash. Also explain the

functions or scope of management of cash.
+40

(iii)



. 3.

U 4.

u. 5.

e fuftor & S Far W@ fuum afs § Hia FaRor @
TEd gaTey |

What is the objective of pricing and explain the importance of
pricing in marketing mix.

foa=or womeft & fafs wPRI F1 Iasd |

Explain the different type of distribution channels.
arerEr/ OR

2 i 1 27 -3 3 SNURYS SFEERIUE], IS THR 0
AT g 9} Bt HﬁT’a’ﬁ | What is E-commerce? Explain basic
infrastructure facilities, types, advantages and disadvantages of
E-commerce.

2P T [eds TN b ALY <R T |

Differentiate between wholeseler and retailer.
arerEr/ OR
Gt AT & &7 3 IR ¥ a9y |

Explain the scope of Physical Distribution in detail.

Thee] AT & T2, AEISAT UG HEW DI THATSY |

Explain objective, importance and requirement of Inventory Control.
arerEr/ OR

UE UHTE e & raead o FaRd vd Rigmend $1 Shaafi
F BT H AN A T AH B |

What are the required elements for a effective advertising and
what are the advantages to opt selling as a carrer.

o0
(i)
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Note : Attempt all questions. Each question carries equal marks.

T 1. fIuue srgerRon ¥ @ acw £7 $9hr Rrdwam o ffte sragmona
P THHISY U9 39 AGURIT H T=IA F1 27
What do you mean by marketing concept? Explain it's

characteristics and various concept of marketing and what are
the assumption of marketing concept.

a1/ OR

fauue arTeRT & 1eTIE B MaTEaT Ud gEw adisd U fauuE
IR BT TAIRAT B dlel TCDi DI T |

Explain the need and importance of marketing environment and
also the factors which affect marketing environment.

0.2, Y fergoft foTRa9u—/ Wrrite short note on-
(31) affifies Ieue Td IUHIFT IS H 3R |
Diffrentiate between industrial and consumer product.

() Scure FAeE &t fasver @ 98|l

Characteristics and importance of Product Planning.

arear/ OR

(i) $.93./PT.0.



9. 4.

9. 5.

a2/ OR
g J T & F anffe gaR w fewef) faRaw

Write a note on recent reforms in banking sector in India.

gehg #1949 F1 eneeRRTE geaie HIRT |
Critically examine the Indian Banking Act 1949,

31291/ OR
= W= feoaolt ferRau- / Write short note on -
(i) ﬂ@'\qjﬁ—S - fafermm / Schedule - 8 : Investment
(i) STIEE-9 : 3T / Schedule - 9 : Advance

AP 6 T 317 T G &7 59 e et gur e §
6 g @1 vl Hi |

What do you mean by Co-operative Bank? Explain their functions
& role in development.

31291/ OR
71 1= fewguft faRau- /write shrot note on -
(i) &% &1 R / Balance Sheet of Bank.

(i) AR ST R (RReH) / Indian Banking System.
4o

(i)
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Note : Attempt all questions. Each question carries equal marks.

T. 1. % T oMY 71 g &7 b S e I Ff B THI |

What do you mean by Bank? Explain importance and functions of
Bank.

31erg1/ OR
W Rored o5 B TITTAT F S22 qUT THD TS Pl gui HIRTT |

Explain the main objectives and organisational set-up of the
Reserve Bank of India.

7. 2. foow § = 8?7 GRIMT 9@ o 396T e THEsy |
What is Development Bank? Explainit's role in Institutional Credit.
arear/ OR
geftg areftor do5 r feof} forRaw |

Write an note on Regional Rural Bank.

w. 3. Hiftw Aify T ey w0 gHs@ £? 9RAy Hifes Hifa F Seel o
qui BT |

What do you mean by Monetary Policy? Explain objectives of
Monetary Policy of India.

(i) $.93./PT.0.



